

Estimating the Gamma and the Q-Gamma Functions in the Neutrix Sense

Ahmed Salem

Department of Mathematics, Faculty of Science, King Abdulaziz University, Jeddah 21589, Saudi Arabia

***Corresponding Author:** Ahmed Salem, Department of Mathematics, Faculty of Science, King Abdulaziz University, Jeddah 21589, Saudi Arabia,

Received date: January 4, 2022; Accepted date: February 21, 2022; Published date: March 30, 2022

Citation: Ahmed S., Estimating the gamma and the q-gamma functions in the neutrix sense. J Mathematical Methods in Engineering. 1(1): DOI: 10.31579/2690-0440 /007

Copyright: © 2022 Ahmed S. This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

Abstract

In this paper, the concepts of neutrices and neutrix limit are used to estimate the values of gamma and incomplete gamma functions and their q-analogues when $0 < q < 1$ in the neutrix sense at zero and negative integers. Also the values of rth derivatives of these functions are estimate for $r=1, 2, \dots$

Keywords: gamma function; incomplete gamma functions ; q-gamma function; incomplete q-gamma function; neutrices ; neutrix limit

1. Introduction

The incomplete q-gamma functions arise from Jackson q-integral for the q-gamma function [1]

$$\Gamma_q(\alpha) = \int_0^{1-q^{-1}} t^{\alpha-1} E_q^{-tq} d_q t, \quad \alpha > 0, 0 < q < 1 \tag{1.1}$$

By decomposing it into a q-integral from 0 to x (lower incomplete q-gamma function), and another from x to $1/(1-q)$ (upper incomplete q-gamma function) [2]

$$\gamma_q(\alpha, x) = \int_0^x t^{\alpha-1} E_q^{-tq} d_q t, \quad \alpha > 0, x > 0 \tag{1.2}$$

$$\Gamma_q(\alpha, x) = \int_x^{1-q^{-1}} t^{\alpha-1} E_q^{-tq} d_q t, \quad \alpha > 0, x > 0 \tag{1.3}$$

Gupta [3] defined a q-analogue of the incomplete gamma function such version in a slightly different form and he studied its important analytical properties and gave an application of it in statistical distribution theory.

When $q \rightarrow 1$ the definitions from (1.1) to (1.3) reduce to the definitions of the gamma and the incomplete gamma functions, respectively, as [4]

$$\Gamma(\alpha) = \int_0^\infty t^{\alpha-1} e^{-t} dt, \quad \alpha > 0 \tag{1.4}$$

$$\gamma(\alpha, x) = \int_0^x t^{\alpha-1} e^{-t} dt, \quad \alpha > 0, x > 0 \tag{1.5}$$

$$\Gamma(\alpha, x) = \int_x^\infty t^{\alpha-1} e^{-t} dt, \quad \alpha > 0, x > 0 \tag{1.6}$$

Salem [5] proved that $\gamma_q(\alpha, x)$ is an entire function for fixed complex variable x and for all complex $\alpha = 0, -1, -2, \dots$ on the open unit disc $|q| < 1$ and $\Gamma_q(\alpha, x)$ can also be continued analytically for all complex numbers $\alpha, x; |\arg(x)| < \pi$ by means of the expansions

$$\Gamma_q(0, x) = E_1(x, q) = \frac{1-q}{\ln q} \ln x - \gamma_q + \sum_{n=1}^\infty \frac{q^n \gamma_q(n, x)}{[n]_q!} \tag{1.7}$$

$$= \frac{1-q}{\ln q} \ln x - \gamma_q + \sum_{n=1}^\infty \frac{(-1)^{n-1} q^{\frac{n(n+1)}{2}} x^n}{[n]_q \cdot [n]_q!} \tag{1.8}$$

Where $E_1(x, q)$ is the q-analogue of the exponential integral and $\gamma_q = ((1-q)/\ln q) \Gamma_q'(1)$ denotes the q-analogue of the Euler-Mascheroni constant. The author in [6] used this result to derive an important recursive formula for the complementary of incomplete q-gamma function $\Gamma_q(\alpha, x)$ at the negative integers as follows

$$\Gamma_q(-m, x) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} E_1(x, q) - E_q^{-x} \sum_{k=1}^m \frac{(1-q)^k}{(q^{-m}, q)_k} x^{k-m-1} \tag{1.9}$$

Where m is a positive integer and $|\arg(x)| < \pi - \epsilon, 0 < \epsilon < \pi$.

Here, the Jackson q-integral is defined in a generic interval [a, b] as [7]

$$\int_a^b f(x) d_q x = \int_0^b f(x) d_q x - \int_0^a f(x) d_q x$$

Where

$$\int_0^a f(x) d_q x = a(1-q) \sum_{n=\bar{0}}^\infty q^n f(aq^n) \tag{1.10}$$

Provided the sum converges absolutely and E_q^x is one of q-analogues of

the exponential function defined as

$$E_q^x = \sum_{n=0}^{\infty} \frac{q^{\frac{n(n-1)}{2}} x^n}{[n]_q!} = \prod_{n=0}^{\infty} (1 + x(1-q)q^n) \tag{1.11}$$

Where $[a]_q = (1-q^a)/(1-q)$ refers to the basic number and $[m]_q! = [m]_q[m-1]_q \cdots [1]_q$ with $[0]_q! = 1$ is q -shefted factorial for positive integer m .

Divergent integral is an integral that has infinite limits of integration or an unbounded integrand and is either infinite or lacks a definite finite value. There are many methods used to handle such integral (for example: Hadamard finite part and the Cauchy principal value). Fisher developed the method, which is very similar to Hadamard method used to define the pseudo-functions, regarded as a particular application of the so called neutrix calculus developed by Van der Corput [8]. His method is based on discarding of unwanted infinite quantities from asymptotic expansions and has been widely exploited in connection with the problem of distributional multiplication and convolution. Fisher used the neutrices and neutrix limit to define gamma, beta and incomplete gamma functions [9-12]. Ozcag. et al [13,14] applied the neutrix limit to extend the definition of the incomplete beta function and its partial derivatives for negative integers. Salem [15,16] applied the neutrix and the neutrix limit to extend the definitions of q -gamma function (1.1) and incomplete q -gamma function (1.2) and their derivatives to negative integer values.

The main purpose of this paper is estimating the gamma and incomplete gamma functions and their q -analogues in the neutrix sense. Throughout this paper, we restrict the values of q , α and x to be real and $0 < q < 1$, $x > 0$. The neutrix and the neutrix limit are defined as

Neutrix. A neutrix N is defined as a commutative additive group of functions $f(\zeta)$ defined on a domain N' with values in an additive group N'' , where further if for some f in N , $f(\zeta) = \gamma$ for all $\zeta \in N'$, then $\gamma = 0$. The functions in N are called negligible functions.

Neutrix limit. Let N be a set contained in a topological space with a limit point which does not belong to N . If $f(\zeta)$ is a function defined on N' with values in N'' and it is possible to find a constant c such that $f(\zeta) - c \in N$, then c is called the neutrix limit of f as ζ tends to a and we write $N - \lim_{\zeta \rightarrow a} f(\zeta) = c$.

From now on, let N be the neutrix having domain $N' = \{\epsilon: 0 < \epsilon < \infty\}$ and range N'' the real numbers, with the negligible functions being finite linear sums of the functions

$$\gamma^{(r)}(\alpha, x) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^x t^{\alpha-1} \ln^r t e^{-t} dt, \quad r = 0, 1, 2, \dots \tag{2.5}$$

$$\gamma_q^{(r)}(\alpha, x) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^x t^{\alpha-1} \ln^r t E_q^{-qt} d_q t, \quad r = 0, 1, 2, \dots \tag{2.6}$$

In particular, it has been proved in [16] that

$$\gamma_q(0, x) = \int_0^x t^{-1} [E_q^{-qt} - 1] d_q t - \frac{(1-q) \ln x}{\ln q} \tag{2.7}$$

An interesting formula for incomplete q -gamma function has been derived in [16] as the recursive formula

$$\gamma_q(-m, x) + \frac{q^m}{[m]_q} \gamma_q(-m+1, xq) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q [m]_q!} - \frac{q^m}{[m]_q} x^{-m} E_q^{-xq} \tag{2.8}$$

For $x > 0$ and $m = 1, 2, \dots$

$$\epsilon^\lambda \ln^{r-1} \epsilon, \quad \ln^r \epsilon \quad (\lambda < 0, r = 1, 2, \dots)$$

And all functions $o(\epsilon)$ which converge to zero in the normal sense as ϵ tends to zero [8].

2. A brief review of the gamma and q -gamma functions

It has been shown in [12] that the r th derivative of the gamma function (1.4) is defined by the neutrix limit for all real number α

$$\Gamma^{(r)}(\alpha) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^{\infty} t^{\alpha-1} e^{-t} dt, \quad r = 0, 1, 2, \dots \tag{2.1}$$

It has been also shown in [15] that the r th derivative of the q -gamma function (1.1) is defined by the neutrix limit for all real value of α

$$\Gamma_q^{(r)}(\alpha) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^{\frac{1}{1-q}} t^{\alpha-1} \ln^r t E_q^{-qt} d_q t, \quad r = 0, 1, 2, \dots \tag{2.2}$$

If we want to make the details of this definition more precise, we redefine as follows:

$$\Gamma_q^{(r)}(0) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^{\frac{1}{1-q}} t^{-1} \ln^r t E_q^{-qt} d_q t, \tag{2.3}$$

for $r = 0, 1, 2, \dots; 0 < q \leq 1$ and for $m = 1, 2, \dots$

$$\Gamma_q^{(r)}(-m) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^{\frac{1}{1-q}} t^{-m-1} \ln^r t E_q^{-qt} d_q t. \tag{2.4}$$

The r th partial derivatives with respect to α of the incomplete gamma function (1.5) and its q -analogue (1.2) are proved and defined in [9, 10] and [16], respectively, by the neutrix limit for all α and $x > 0$

3. The main results

The present section contains the main results in this paper which deals with the estimating the gamma and incomplete gamma functions and their q -analogues in the neutrix sense. The neutrix limit is used to derive the following results:

Theorem 3.1. The incomplete q -gamma function has the equation

$$\gamma_q(0, x) = -E_q(x, q) - \gamma_q, \quad x > 0 \tag{3.1}$$

and the q -gamma function has also the equation

$$\Gamma_q(0) = -\gamma_q \tag{3.2}$$

Proof. The formula (2.7) yields for $x > 0$

$$\begin{aligned} \gamma_q(0, x) &= \int_0^x t^{-1} [E_q^{-qt} - 1] d_q t - \frac{(1-q) \ln x}{\ln q} \\ &= \sum_{n=1}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}}}{[n]_q!} \int_0^x t^{n-1} d_q t - \frac{(1-q) \ln x}{\ln q} \\ &= \sum_{n=1}^{\infty} \frac{(-1)^n q^{\frac{n(n+1)}{2}} x^n}{[n]_q [n]_q!} - \frac{(1-q) \ln x}{\ln q} \end{aligned}$$

The q -integral and summation are permuted due to their convergence. Inserting the expansion of q -exponential integral (1.8) into the previous equation to obtain (3.1) which equivalently $\Gamma_q(0) = -\gamma_q$.

Remark 3.2. From the equation (3.1) when letting $q \rightarrow 1$, we get the incomplete gamma function $\gamma(0, x) = E_1(x) - \gamma$ where $E_1(x)$ is the exponential integral defined as[4]

$$E_1(x) = \int_x^{\infty} t^{-1} e^{-t} dt, \quad |\arg(x)| < \pi$$

And $\gamma = 0.57721\dots$ is the Euler constant. Also the equation (3.2) tends to the same result obtained by [12] for gamma function as $q \rightarrow 1$, $\Gamma(0) = -\gamma$.

Theorem 3.3. The incomplete q -gamma function has the equation

$$\begin{aligned} \gamma_q(-m, x) &= \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} (H_{m,q} - E_1(x, q) - \gamma_q) \\ &\quad - \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} E_q^{-x} \sum_{i=1}^m (-1)^i q^{-\frac{i(i-1)}{2}} [i-1]_q! x^{-i}, \quad m = 1, 2, \dots, \end{aligned} \tag{3.3}$$

And the q -gamma function has the equation

$$\Gamma_q(-m) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} (H_{m,q} - \gamma_q), \quad m = 1, 2, \dots \tag{3.4}$$

Where $H_{m,q}$ is the q -analogue of the Harmonic number defined as

$$H_{m,q} = \sum_{i=1}^m \frac{1}{[i]_q}. \tag{3.5}$$

Proof. It is easy from (1.10) to prove that

$$\int_0^{xq^n} f(t) d_q t = \int_0^x f(t) d_q t - x(1-q) \sum_{i=0}^{n-1} q^i f(xq^i), \quad n = 1, 2, \dots$$

This leads to

$$\gamma_q^{(r)}(\alpha, xq^n) = \gamma_q^{(r)}(\alpha, x) - x^\alpha(1 - q) \sum_{i=0}^{n-1} q^{i\alpha} \ln^r(xq^i) E_q^{-xq^{i+1}}, \quad r = 0, 1, 2, \dots \quad (3.6)$$

Therefore (2.8) can be given in the form

$$\gamma_q(-m, x) = \frac{-q^m}{[m]_q} \gamma_q(-m + 1, x) + f(m) \quad (3.7)$$

Where

$$\begin{aligned} f(m) &= \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q \cdot [m]_q!} + \frac{x^{1-m}(1 - q)q^m}{[m]_q} E_q^{-xq} - \frac{x^{-m}q^m}{[m]_q} E_q^{-xq} \\ &= \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q \cdot [m]_q!} - \frac{x^{-m}q^m}{[m]_q} E_q^{-x}. \end{aligned} \quad (3.8)$$

By means of the iterative method, the equation (3.7) can be written in the form

$$\gamma_q(-m, x) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \gamma_q(0, x) + \sum_{i=1}^m \frac{(-1)^{m-i} q^{\frac{(m-i)(m+i+1)}{2}}}{\prod_{r=1}^{m-i} [i+r]_q} f(i) \quad (3.9)$$

A short calculation with using the well-known identity

$$(aq^i, q)_{m-i} = \frac{(a, q)_m}{(a, q)_i}, \quad i = 0, 1, 2, \dots, m$$

Would yield

$$\prod_{r=1}^{m-i} [i+r]_q = \frac{(q^{i+1}, q)_{m-i}}{(1 - q)^{m-i}} = \frac{[m]_q!}{[i]_q!}.$$

Inserting the equation (3.1) and the previous result into (3.9) to obtain

$$\gamma_q(-m, x) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} (-E_q(x, q) - \gamma_q) + \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \sum_{i=1}^m (-1)^i q^{-\frac{i(i+1)}{2}} [i]_q! f(i)$$

From (3.8) and the above equation, we obtain (3.3). The equation (3.4) comes immediately by putting $x = 1/(1 - q)$ in

(3.3) with noting that $E_q^{\frac{-1}{1-q}} = 0$. This ends the proof.

As a consequence of the previous theorem when letting $q \rightarrow 1$, we have

Corollary 3.4. The incomplete gamma function has the equation

$$\gamma(-m, x) = \frac{(-1)^m}{m!} (H_m - E_1(x) - \gamma) - \frac{(-1)^m e^{-x}}{m!} \sum_{i=1}^m (-1)^i (i - 1)! x^{-i}, \quad (3.10)$$

And the gamma function has the equation

$$\Gamma(-m) = \frac{(-1)^m}{m!} (H_m - \gamma). \quad (3.11)$$

Where $m = 1, 2, \dots$ and H_m is the Harmonic number defined as

$$H_m = \sum_{i=1}^m \frac{1}{i}.$$

Theorem 3.5. For $r = 1, 2, \dots$, the r th derivative of the incomplete q -gamma function can be estimated by the equation

$$\gamma_q^{(r)}(0, x) = \frac{q - 1}{(r + 1) \ln q} \left(\ln^{r+1} x E_q^{-x} + \gamma_q^{(r+1)}(1, x) \right) - \frac{\ln^r q}{r + 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} q \gamma_q^{(i)}(0, x) \tag{3.12}$$

and for the q -gamma function by the equation

$$\Gamma_q^{(r)}(0) = \frac{q - 1}{(r + 1) \ln q} \Gamma_q^{(r+1)}(1) - \frac{\ln^r q}{r + 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} q \Gamma_q^{(i)}(0) \tag{3.13}$$

Proof. The q -derivative $D_q f(t)$ of a function f is given as

$$D_q f(t) = \frac{f(t) - f(tq)}{(1 - q)t}, \quad q \neq 1, t \neq 0$$

Therefore, by using the binomial theorem, we can deduce for $r = 1, 2, \dots$ that

$$D_q \ln^{r+1} t = \frac{\ln^{r+1} t - (\ln tq)^{r+1}}{(1 - q)t} = \frac{\ln^{r+1} t}{q - 1} - \frac{\ln^r q}{q - 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} t$$

Which can be rewritten as

$$\frac{\ln^r t}{t} = \frac{q - 1}{(r + 1) \ln q} D_q \ln^{r+1} t - \frac{\ln^r q}{r + 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} q \frac{\ln^i t}{t} \tag{3.14}$$

Multiplying both sides by E_q^{-tq} and then q -integrating from ϵ to x with taking the neutrix limit to be

$$\gamma_q^{(r)}(0, x) = \frac{q - 1}{(r + 1) \ln q} N\text{-}\lim_{\epsilon \rightarrow 0} \int_{\epsilon}^x D_q \ln^{r+1} t E_q^{-tq} d_q t - \frac{\ln^r q}{r + 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} q \gamma_q^{(i)}(0, x)$$

Using the q -integration by parts rule

$$\int_a^b f(x) D_q g(x) d_q x = f(b)g(b) - f(a)g(a) - \int_a^b g(xq) D_q f(x) d_q x. \tag{3.15}$$

Would yield

$$\gamma_q^{(r)}(0, x) = \frac{q - 1}{(r + 1) \ln q} \left(\ln^{r+1} x E_q^{-xq} + \gamma_q^{(r+1)}(1, xq) \right) - \frac{\ln^r q}{r + 1} \sum_{i=0}^{r-1} \binom{r + 1}{i} \ln^{-i} q \gamma_q^{(i)}(0, x)$$

The equation (3.6) completes the proof of (3.12). To prove (3.13), put $x = 1/(1 - q)$ in

$$(3.12).$$

Corollary 3.6. For $r = 1, 2, \dots$, the r th derivative of the incomplete gamma function can be estimated by the equation

$$\gamma^{(r)}(0, x) = \frac{1}{r + 1} \left(e^{-x} \ln^{r+1} x + \gamma^{(r+1)}(1, x) \right) \tag{3.16}$$

And for the gamma function by the equation

$$\Gamma^{(r)}(0) = \frac{\Gamma^{(r+1)}(1)}{r + 1} \tag{3.17}$$

Theorem 3.7. For $m = 1, 2, \dots$, we have for incomplete q -gamma function

$$\begin{aligned} \gamma'_q(-m, x) = & \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \left(\frac{q-1}{2 \ln q} (\ln^2 x E_q^{-x} + \gamma''_q(1, x)) + \ln q (E_1(x, q) + \gamma_q) \left[\frac{1}{2} + \frac{H_{m,q}}{1-q} \right] \right. \\ & - \ln x E_q^{-x} \sum_{i=1}^m (-1)^i q^{-\frac{i(i-1)}{2}} [i-1]_q! x^{-i} - \frac{\ln q}{1-q} \sum_{i=1}^m \frac{H_{i,q}}{[i]_q} \\ & \left. + \frac{\ln q}{1-q} E_q^{-x} \sum_{i=1}^m \frac{1}{[i]_q} \sum_{j=1}^i (-1)^j q^{-\frac{j(j+1)}{2}} [j-1]_q! x^{-j} \right), \end{aligned} \tag{3.18}$$

And for q -gamma function

$$\Gamma'_q(-m) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \left(\frac{q-1}{2 \ln q} \Gamma''_q(1) + \gamma_q \ln q \left[\frac{1}{2} + \frac{H_{m,q}}{1-q} \right] - \frac{\ln q}{1-q} \sum_{i=1}^m \frac{H_{i,q}}{[i]_q} \right). \tag{3.19}$$

Proof. From the definition of q -derivative, we see that

$$\frac{\ln q}{q-1} t^{-m-1} E_q^{-tq} = t^{-m} E_q^{-tq} D_q \ln t$$

On q -integrating from $\epsilon \rightarrow x$ with taking the neutrix limit, we obtain

$$\frac{\ln q}{q-1} \gamma_q(-m, x) = N - \lim_{\epsilon \rightarrow 0} \int_{\epsilon}^x t^{-m} E_q^{-tq} D_q \ln t d_q t$$

On q -integrating by parts with using the q -derivative of two product functions

$D_q[f(t)g(t)] = g(t)D_q f(t) + f(t)D_q g(t) = f(t)D_q g(t) + g(t)D_q f(t)$ and the equation (3.6) would yield

$$\frac{\ln q}{q-1} \gamma_q(-m, x) = [m]_q \gamma'_q(-m, x) + q^m \gamma'_q(-m+1, x) + q^m x^{-m} \ln x E_q^{-x}$$

Which can be rewritten as

$$\gamma'_q(-m, x) = \frac{-q^m}{[m]_q} \gamma'_q(-m+1, x) - g(m)$$

Where

$$g(m) = \frac{\ln q}{1-q^m} \gamma_q(-m, x) + \frac{q^m}{[m]_q} x^{-m} \ln x E_q^{-x}$$

Inserting (3.3) into the above function yields

$$\begin{aligned} g(m) = & \frac{\ln q}{1-q} \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q \cdot [m]_q!} \left(H_{m,q} - E_1(x, q) - \gamma_q - E_q^{-x} \sum_{i=1}^m (-1)^i q^{-\frac{i(i-1)}{2}} [i-1]_q! x^{-i} \right) \\ & + \frac{q^m}{[m]_q} x^{-m} \ln x E_q^{-x} \end{aligned}$$

As similar as in Theorem 3.3, we can arrive at

$$\gamma'_q(-m, x) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \gamma'_q(0, x) - \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \sum_{i=1}^m (-1)^i q^{-\frac{i(i+1)}{2}} [i]_q! g(i)$$

Substituting $g(i)$ and (3.12) into the previous result would yield the desired result.

Corollary 3.8. For $m = 1, 2, \dots$, we have for incomplete gamma function

$$\gamma'(-m, x) = \frac{(-1)^m}{m!} \left(\frac{1}{2}(\ln^2 x e^{-x} + \gamma''(1, x)) - H_m(E_1(x) + \gamma) + \sum_{i=1}^m \frac{H_i}{i} - \ln x e^{-x} \sum_{i=1}^m (-1)^i (i-1)! x^{-i} - e^{-x} \sum_{i=1}^m \frac{1}{i} \sum_{j=1}^i (-1)^j (j-1)! x^{-j} \right), \quad (3.20)$$

and for gamma function

$$\Gamma'(-m) = \frac{(-1)^m}{m!} \left(\frac{\Gamma''(1)}{2} - \gamma H_m + \sum_{i=1}^m \frac{H_i}{i} \right) \quad (3.21)$$

Theorem 3.9. For $m = 1, 2, \dots$ and $r = 2, \dots$, we have

$$\gamma_q^{(r)}(-m, x) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \gamma_q^{(r)}(0, x) - \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \sum_{i=1}^m (-1)^i q^{-\frac{i(i+1)}{2}} [i]_q! h(i, x), \quad (3.22)$$

and

$$\Gamma_q^{(r)}(-m) = \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \Gamma_q^{(r)}(0) - \frac{(-1)^m q^{\frac{m(m+1)}{2}}}{[m]_q!} \sum_{i=1}^m (-1)^i q^{-\frac{i(i+1)}{2}} [i]_q! h(i, 1/(1-q)) \quad (3.23)$$

Where

$$h(i, x) = \frac{r \ln q}{1 - q^i} \gamma_q^{(r-1)}(-i, x) + \frac{q^i}{[i]_q} x^{-i} \ln^r x E_q^{-x} + \frac{\ln^r q}{1 - q^i} \sum_{j=0}^{r-2} \binom{r}{j} \ln^{-j} q \gamma_q^{(j)}(-i, x). \quad (3.24)$$

Proof. The equation (3.14) can be read for $r = 2, 3, \dots$ as

$$\frac{\ln^{r-1} t}{t} = \frac{q-1}{r \ln q} D_q \ln^r t - \frac{\ln^{r-1} q}{r} \sum_{i=0}^{r-2} \binom{r}{i} \ln^{-i} q \frac{\ln^i t}{t}$$

Multiplying both sides by $t^m E_q^{-tq}$ and then q -integrating from ϵ to x with taking the neutrix limit to be

$$\gamma_q^{(r-1)}(-m, x) = \frac{q-1}{r \ln q} N\text{-}\lim_{\epsilon \rightarrow 0} \int_{\epsilon}^x D_q(\ln^r t) t^{-m} E_q^{-tq} d_q t - \frac{\ln^{r-1} q}{r} \sum_{i=0}^{r-2} \binom{r}{i} \ln^{-i} q \gamma_q^{(i)}(-m, x)$$

On q -integrating by parts with using the q -derivative of two product functions and the equation (3.6) would yield

$$\begin{aligned} \gamma_q^{(r-1)}(-m, x) &= \frac{q-1}{r \ln q} \left(q^m x^{-m} \ln^r x E_q^{-x} + q^m \gamma_q^{(r)}(-m+1, x) + [m]_q \gamma_q^{(r)}(-m, x) \right) \\ &\quad - \frac{\ln^{r-1} q}{r} \sum_{i=0}^{r-2} \binom{r+1}{i} \ln^{-i} q \gamma_q^{(i)}(-m, x) \end{aligned}$$

Which can be read as

$$\gamma_q^{(r)}(-m, x) = \frac{-q^m}{[m]_q} \gamma_q^{(r)}(-m + 1, x) - h(m, x)$$

Where $h(m, x)$ is defined as in (3.24). As similar as in Theorem 3.3, we can arrive at the desired results.

Corollary 3.10. For $m, r = 1, 2, \dots$, we have

$$\begin{aligned} \gamma_q^{(r)}(-m, x) &= \frac{(-1)^m}{(r + 1)m!} \left(e^{-x} \ln^{r+1} x + \gamma^{(r+1)}(1, x) \right) \\ &+ \frac{(-1)^m}{m!} \sum_{i=1}^m (-1)^i (i - 1)! (r \gamma^{(r-1)}(-i, x) + x^{-i} \ln^r x e^{-x}), \end{aligned} \tag{3.25}$$

And

$$\Gamma^{(r)}(-m) = \frac{(-1)^m \Gamma^{(r+1)}(1)}{(r + 1)m!} + \frac{r(-1)^m}{m!} \sum_{i=1}^m (-1)^i (i - 1)! \Gamma^{(r-1)}(-i) \tag{3.26}$$

4. References

- G. Andrews, R. Askey, R. Roy (1999) *Special Functions*, Cambridge university press, Cambridge,
- M. El-Shahed, A. Salem (2008) *On q-analogue of the incomplete gamma function*, Int. J. Pure Appl. Math 44, 773-780.
- A. Gupta (1992) *a q-extension of "incomplete" gamma function*, J. Indian Math. Soc. 58(4) 249-262.
- M. Abramowitz, C.A. Stegun (1972) *Handbook of Mathematical functions with formulas, Graphs, Mathematical tables* 9th printing, Dover Publications, New York.
- A. Salem, A (2013) *q-analogue of the exponential integral*, Afrika Matematika 24(2), 117-125.
- A. Salem, *Analytic properties of the incomplete q-gamma functions*, Mathematica Slovaca (submitted manuscript).
- G. Gasper, M. Rahman (2004) *Basic Hypergeometric Series*, Cambridge University Press, Cambridge.
- J.G. van der Corput (2004) *Introduction to the neutrix calculus*, J. Anal. Math. 7 (1959-1960), 291-398. [9] B. Fisher, *On defining the incomplete gamma function $\gamma(-m, x)$* , Integral Transforms Spec. Funct. 15 (6), 467-476.
- B. Fisher, B (2003) *Jolevska-Tuneska, A. Kiliman, on defining the incomplete gamma function*, Integral Transforms Spec. Funct. 14 (4), 293-299.
- B. Fisher, Y (1987) *Kuribayashi, Neutrices and the beta function*, Rostock. Math. Kolloq. 32, 56-66.
- B. Fisher, Y. Kuribayashi (1987) *Neutrices and the Gamma function*, J. Fac. Ed. Tottori. Uni. Math. Sci. 36(1-2), 1-7.
- E. Ozcag, I. Ege, H. Gurcay (2008) *On partial derivative of the incomplete beta function*, Appl. Math. Lett. 21, 675-681.
- E. Ozcag, I. Ege, H. Gurcay (2008) *an extension of the incomplete beta function for negative integers*, J. Math. Anal. Appl. 338, 984-992.
- A. Salem (2010) *The neutrix limit of the q-Gamma function and its derivatives*, Applied Mathematics Letters 23(10), 1262-1268.
- A. Salem (2012) *Existence of the neutrix limit of the the q-analogue of the incomplete gamma function and its derivatives*, Applied Mathematics Letters 25(3), 363-368.
- I. Ege, Y. Emrah (2012) *some generalized equalities for the q-gamma function*, Filomat 26(6), 1227-1232.
- G. S. Guseinov (2003) *Integration on time scales*, J. Math. Anal. Appl., 285 107-127.
- A.K Golmankhaneh (2019) *a Review on Application of the Local Fractal Calculus*, Num. Com. Meth. Sci. Eng., 1(2), 57-66.